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I. Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part is pronounced differently from that of the others in each group.
Question 1:A. career				B. applied			C. alternative		D. approach
Question 2:A. performed			B. released			C. received			D. adored
II. Mark the letter A, B, C, or D on your answer sheet to indicate the word whose main stress position is placed differently from that of the others in each group.
Question 3:A. article				B. vehicle			C. harmony			D. erosion
Question 4:A. ecotourism		B. relaxation			C. preservation		D. disappointed
III. Mark the letter A, B, C, or D on your answer sheet to indicate the word OPPOSITE in meaning to the underlined word.
Question 5: In order for ecotourism to be categorized as successful, it must involve local populations in the program.
A. exclude 					B. comprise 				C. engage					D. relate 
Question 6: Researchers believe tourists disrupt animals in their natural habitat.
A. disturb 					B. confuse 					C. organize					D. mix up
IV. Mark the letter A, B, C, or D on your answer sheet to indicate the word CLOSEST in meaning to the underlined word.
Question 7: Permanent damage to children's body may be caused by frequent contact with electronic devices.
A. Immediate 				B. Long-lasting 				C. Short-term 				D. Serious
Question 8: Students who have access to inappropriate information, videos, and pictures may spend many hours reading and watching, and forget about their projects or assignments.
A. Fascinating 				B. Tempting 				C. Unsuitable				D. Illegal
V. Mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that completes each of the sentences.
Question 9: Smoking is extremely detrimental to health, ____ many people continue to smoke anyway.
A. nor						B. so						C. yet						D. then
Question 10: Like Vietnamese, Thai people also depend ____ water for their crops.
A. against					B. for						C. in						D. on
Question 11: The main _________of this drink are wine, orange juice and bitters.
A. components				B. ingredients				C. parts						D. compositions
Question 12: I am trying_______money to pay for a trip with my best friends in the next summer holiday.
A. save							B. to save				C. to be saved			D. saving
Question 13: When you get involved in a volunteer project, you are able to ____ your knowledge into practice.
A. put							B. take					C. bring					D. push
Question 14: Linda can‟t stand __________ in a room with all of the windows closed.
A. sleep							B. sleeping				C. slept					D. being slept
Question 15: The number of _____in the company has trebled over the past decade.
A. employees					B. employer			C. employments			D. unemployment
Question 16: "Why don't we go to Lionel's for dinner tonight?” - “Is that the new restaurant ____ has just opened on the other side of town?" 
A. which 						B. where 				C. that 					D. which it
Question 17: Ann was very surprised to find the door unlocked. She remembered ______it before she left.
A. to lock						B. locking				C. lock					D. being locks
Question 18: The possible career paths in education can be to become teachers, education______or curriculum developers.
A. leaders						B. administrators			C. managers				D. businessman
Question 19: “Thank you for your birthday gift, I really like it.” - “____”
A. I’m happy you like it.						B. Of course, it's valuable.
C. Not at all.									D. It’s nice of you.
Question 20: "Hi, you look happy. What's going on?” – “____”	 	
A. Well, I loved running.						B. I have passed the exam.
C. Take yourself at home.						D. Oh yes, I enjoyed it very much.
VI. Mark the letter A, B, C, or D on your answer sheet to indicate the part that is incorrect in each of the sentences.
Question 21: My mother always suggests to read the book before seeing the film.
A. before					B. seeing				C. always				D. to read
Question 22: She was awarded the employee of the year though her young age.
A. though					B. employee				C. young age			D. was awarded
VII. Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word/phrase that completes each blank.
How people live and their own things have changed significantly in the last century. Many of the things we do now seemed (23)______less than a century ago. It was unimaginable for anyone to think that humans could fly or that we could hear music from thousands of miles away. Television and radio have many uses these days (24)______entertainment. They aid in the nighttime or poor weather landing of aircraft and the search for fish in the ocean. In the industrial sector, they manage the operations of (25)______machines.
Our way of life is (26)_____more quickly than it has ever done in recorded history. To make new discoveries, scientists have been employing what is known as "a scientific method." Novel medications rank among the most significant scientific discoveries. Many diseases that caused deaths fifty years ago are now considered (27)________.
Studying science broadens our perspectives and introduces us to a whole new world. Man's life is becoming increasingly better as science advances.
Question 23:A. regulation			B. impossible			C. unavailable 			D. undamaged
Question 24:A. until					B. unless				C. if not					D. besides 
Question 25:A. numerous 			B. many					C. a lots					D. much
Question 26:A. becoming			B. rising					C. changing 			D. causing
Question 27:A. unacceptable		B. comfortable				C. reasonable			D. preventable
VIII. Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions that follow.
Scientists think that Earth is experiencing a very serious problem. The temperature is rising. According to scientific predictions, the 21st century will see significant changes in the climate. The water along the coast will be warmer. The impact on agriculture will be significant. Farmers will struggle to grow quality crops. The weather will be too dry in warm climates. It's possible for the water content to drop by 50%. The production of agriculture would significantly decline as a result.
By the middle of the twenty-first century, there could be a 1.5 to 5.6 degree Celsius increase in global temperature. Furthermore, the Arctic and Antarctic may see even more of a temperature increase. The great ice sheets may melt as a result of a rise in temperature, raising the oceans' level by one to two meters. It would submerge many coastal cities. Why is everything taking place like this?
The Sun maintains the temperature of the Earth and its atmosphere. The majority of the solar light that heats the Earth can enter the atmosphere. Sunlight heats the Earth, which then releases heat energy back into the atmosphere. The Earth's atmosphere lets most of this energy escape. But some of it is still there. Gases that absorb this energy and produce more heat include carbon dioxide, ozone, and water vapor. Earth then receives a return flow of this heat, warming the planet.
Question 28: Which of the following will be one of the results of warmer earth?
A. Crops will be destroyed completely.
B. The amount of water will decrease by half.
C. Farmers will find it hard to deal with the heat.
D. There will be no winter on earth.
Question 29: The word “struggle” in paragraph 1 is closet in meaning to________.
A. change					B. charge					C. travel					D. fight
Question 30: A rise in temperature will be more remarkable __________.
A. in the Arctic and Antarctic regions 						B. in the coastal cities
C. in agricultural areas									D. under the great ice sheets
Question 31: The Earth wouldn’t become warmer if __________.
A. the heat energy didn’t escape from the Earth’s atmosphere
B. sunshine didn’t pass through the atmosphere.
C. the Earth didn’t send heat energy back into the atmosphere
D. carbon dioxide, ozone and water vapor didn’t keep the heat energy
Question 32: Which of the following is NOT mentioned in the passage?
A. The decrease in agricultural production
B. The problem of rising sea levels
C. The reason why the Earth becomes warmer
D. The amount of ozone in our atmosphere
IX. Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is CLOSEST in meaning to the original one.
Question 33: They were busy with their schoolwork. They spent time helping the elderly in the retirement home.
A. They were busy with their schoolwork, but they still spent time helping the elderly in the retirement home.
B. They spent time helping the elderly in the retirement home, so they were busy with their schoolwork.
C. They were busy with their schoolwork, and they spent time helping the elderly in the retirement home.
D. They spent time helping the elderly in the retirement home, or they were busy with their schoolwork
Question 34: "We went to work yesterday," she said.
A. She said that they had been to work the day before. 
B. She told that they had been to work the day before. 
C. She said that they had been to work the following day. 
D. She said that she had been to work the day before.
Question 35: It isn’t necessary for you to finish the work by Saturday.
A. You don’t have to finish the work by Saturday.
B. You needn’t finish the work by Saturday.
C. You mustn’t finish the work by Saturday.
D. It is not essential that you finish the work by Saturday.
Question 36: ‘If only I’d learnt to drive,’ Roger said.
A. Roger thinks there are too many drivers on the roads.
B. Roger feels glad that he didn’t learn to drive.
C. Roger wishes he could drive.
D. Roger is sorry that he learnt to drive.
X. Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is BEST written from the words/phrases given.
Question 37: He/ such/ empathetic nurse/ the patients/ love him.
A. He such a empathetic nurse that the patients love him.
B. He is such an empathetic nurse that the patients love him.
C. He was such an empathetic nurse that the patient love him
D. He was such a empathetic nurse that the patient love him.
Question 38: this/the style/ hair/your wife/want/have?
A. Was this the style hair which your wife want to have?
B. This the style of hair that your wife wants to have?
C. Is this the style of hair which your wife wants to have?
D. Is thus the style of hair that your wife want to have?
Question 39: On/ contrary/ we/ need/ make/ public/ aware/ such/ danger
A. On the contrary we need to make the public more aware of such danger.
B. On the contrary we need making the public more aware of such a danger.
C. On the contrary we need make the public more aware of a such danger.
D. On the contrary we need make the public more aware in such danger.
Question 40: We/ must/ put/ pressure/ authorities/ if/ we/ want/ do/ something//
A. We must all put pressure on the authorities if we want to do something.
B. We must all put pressure for the authorities if we want something done.
C. We must all put pressure on the authorities if we want something to be done.
D. We must all put pressure for the authorities if we want something to be done.
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